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Note : This paper contains seventy five (75) objcctive type questions of two (2) marks cach. All

Lad

questions are compulsory.

Muatch st — T with List — IT and give the correct answer by using codes given below the
lists :

List — 1 List — 11
a.  Kesavananda Bharati V. State of 1. Basic structure doctrine new
Kerala dimensions added
b. Indira Nehru Gandhi V. Raj Narain 1. Basic structure doctrine created
¢.  Minerva Mills V. Union of India 1. Basic structure doctrine strengthened

d. LR. Coclho V. Statc of Tamil Nadu  1v. Basic structure doctrine crystalliscd
Codes :

a b C d
(ly n He 1y ]
(2) 1 AS I i1
3y v i I 11
4y 1 v il i

Read Assertion (A) and Reason (R} and give the correct answer with the help ol codes

given below :

Assertion (A) ¢+ A State made law on any matter of Concurrent List prevails not-
withstanding any repugnancy with an carlier law made by the
Parliament.

Reason (R) : The Parliament can make a law, on any matter in the Concurrent List
that prevails over any repugnant state law.

Codes :

(1Y  (A)and (R) arc true and (R) is the correct explanation of (A).

(2)  (A)and (R) are true, but (R} 15 not the correct explanation ol (A).

(3)  (A)is falsc, but (R) 1s truc.

4y (A)istrue, but (R)1s false.

Read Assertion (A) and Reason (R} and give the correct answer with the help ol codes

aiven below :

Assertion (A4) ¢ The President of India has a night to seek advisory opmion of the
Supreme Court of India on a question of law or fact has arisen or likely
to arise, which 1s of such nature and of such public importance.

Reason (R) : The Constitution ol India makes it obligatory for the President to accepl
the advice rendered by the Supreme Court of India.

Codes :

(1Y  (A)and (R) arc true and (R) is the correct explanation of (A).

(2)  (A)and (R) are true, but (R} 1s not the correct explanation ol (A).

(3)  (A)is true, but (R) is falsc.

4y  (A)is falsc, but (R) 1s truc.

Paper-1T1 2 JA-058-17
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c. TOa1 e I IRA™ T4 iii. ToTd BT g gga gl
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ohd :

a b 5 d
(ly 11 Y ]
(2) 1 v 1 11
(3) v 1 1] 11
(4) 111 v 11 1
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(3) (A)TIE g (R)Tod § |

(4)  (A) TR T, TR (R) WET T
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Match List — I with List — II and give the correct answer by using codes given below the
lsts
List -1 List — II
a. Art 136 1 Appcllate jurisdiction of Supreme Court in regard
to criminal matters.,
b. Art 134 1. Scat of Supreme Court
& Art 131 i, Special leave to appeal jurisdiction of the Supremce
court over any court or adminmistratve tribunal.

d. Art 130 1v.  Original jurisdiction of the Supreme Counrt,
Codes :

a b C d
(1y v i I I

2y i di iv i
3y i v i i
@ i i v i

Match List — I with List — II and give the correct answer by using codes given below the
lists :

[ist -1 List —IT
a, Art 221 i Transfer of a Judge from onc High
Court to another
b, Art222 1. Appointment of acting Chief Justice of a
High Court
c. Art223 . Appomtment of additional and acting

Judges of the High Court,
d. At 224 v, Salaries ete of High Court Judges
Codes :

a b % d
(1) 1v i i 111
(2) 1 iV i 111

3y i v i
) i i iv i

Read Assertion (A) and Reason (R} and give the correct answer with the help ol codes

aiven below

Assertion (A) 1 An accused person 1s guarantced under the Constitution of India the
right to be informed of the nature and causc of his accusation.

Reason (R} : The accused person has to be produced before the nearest District Judge
within twenty four hours.

Codes :

(1Y (A)and (R) arc true and (R) is the correct explanation of (A).

(2)  (A)and (R) arc true, but (R) is not the correct explanation of (A).

(3) (A} is falsc, but (R) 1s truc.

4y (A)istrue, but (R) s false.

Paper-1T1 4 JA-058-17
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FT:

a b C d
(1) 1v 1 111 11
(2) 111 v 1
(3) 1 1% 1 111
(4) 11 1 v 11

AT — 1 1 AT — 11 % A1 gHield shitiel 947 9rea o A 50 T 2l 31 Ta6 T g1 96l 3
T
= - 1 = - 11

a. IR 221 . U 3T EEE 9 g T SEEeT s SEEor

b, 3T 222 i, 399 e % aEs e FETET o5
.J-;_ .:’r\

c.  3wmE 223 i, =T <O % 39T UG Hides T
o =

d. 3T T=E 224 iy, 3o IEeE o STEEE & ead 370

he 3

L=y

a h i d

a0y e § B

@ Wiy i il

(3) 1l 1V 11 1

(4y 1 ] IV I

3TN (A) T @ (R) 361 UZ 97 A 1G1 7T Sh2i 1 Wedl § Tl St 5

ATFHTT (A) 1 TRT % AU A AR SET I ITH O o0 3R FI AFHIT TAT FHROT
< FN T ST ST 2T § |

aF (R) : AR ST H e U2 % iy Maedd TSl =i % W6l U7 Rl
ST F18T |

the

(1)  (A) 3T (R) &1 & T (A) FT T&T Tl (R) & |

(2)  (A) SR(R) T &, FFT (A) 7 Tl TIEH0T (R) Tl &
(3)  (A) 7T &, fh] (R) TRT & |

(4)  (A) TR T, Toh<] (R) 0 & |

JA-058-17 5 Paper-IT1T
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Read Assertion (A) and Reason (R} and give the correct answer with the help of codes

aiven below :

Assertion (A) : Subjcct to anything in this Constitution, Parliament may in exercise of
its constituent power amend by way of addition, vanation or repeal any
provision of this Constitution 1 accordancce with the procedure laid
down in this article.

Reason (R) ¢ Above statement 1s Article 368(1) of the Indian Constitution.

Codes :

(1) Both (A) and (R) are correct and (R) 15 correct reason of (A).

(2)  Both (A) and (R) are wrong.

(3)  (A) s wrong, but (R) s nght

(4y  (R)1s wrong, but (A) 15 right.

Read Assertion (A) and Reason (R} and give the correct answer with the help ol codes

aiven below :

Assertion (A) : No person to be cligible for clection in, or to claim to be included in a
special electoral roll on grounds ol religion, race, caste or sex.

Reason (R) : Above statement 1s tUtle of Article 325 of the Indian Constitution.

Codes :

(1Y Both (A) and (R) are correct and (R) 15 correct reason for (A).

(2} Both {(A) and (R) are wrong.

(3)  (A) s wrong, but (R) 15 nght.

(4)  (R)1s wrong, but (A) 1s nght.

Discretion, when applied to a court of justice, means sound discretion guided by law. It
must be governed by rule, not by humour; it must not be arbitrary, vaguc and fanciful but
legal and regular. This observation was made in

(1) Umon ol India V. Kuldeep Singh

(2} Rehance Anrport Developers (P) Lid. V. Airports Authority of India.

(3)  Maneka Gandhi V. Union of India

(4)  Natwonal Insurance Co. [id V. Keshav Bahadur

Under which of the following condition(s) a writ of mandamus can be granted 7 Give
correct answer by using the codes

A There must be a public duty.

b, There must be a specific demand and refusal.

¢ There must be a clear right 1o enforce the duty.

d.  The nght must be subsisting on the date of the petition.
Codes :

(1) Alla, b, ¢cand d are correct.
(2)  Only a, b and ¢ are correct.
(3)  Only a and ¢ are correct.
(4)y  Only a and b arc correct.

Paper-IIT 6 JA-058-17
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7. @R (A) TE @5 (R) S O a1 A R T e o geraer O vl 3o E

ATHYT (A) I ClEF ¥ 0! a1 o 210 g0 9. §Ug T Siaerar viiem & Fam Fd gU
24 HigyE & [RET Iuey 1 9REdd, iledd O FiEd & B9 § H§Ingd ©F
TTwE T SMYHIIT Tl & 2T IR T T |

a% (R) ;IR S, AR % WS 7 AT 368(1) F |

ohd :

(1) (A) 3R (R) TFT T&l & T4T (A) I T&l T (R) & |

(2)  (A) IR (R) TATTETA & |

(3)  (A)Tea E, TR (R) TRl 7 |

(4)  (R) oA €. T (A) TR € |

8. 3T (A) Td @ (R) 1 UZ T7 A 1§ 7T K2l 1 Fadl § Tal St &
ATFHTT (A) 1 G, GO ST 3TIET o o 3MU WY g 7 SAR A 3ET a9 gasr]
T (R) ;ST BT A W G % ST 325 1 Ve § |
T
(13 (A) 3T (R) SHT TET & T9T (A) T T&I T (R) & |
(2)  (A)3TT(R) TAT T & |
(3) (A) o g, T (R) Ta1 & |
(4) (R)TeTa &. T (A) WRT & |

9, S 9 I (HE ST T fgaes S DA TR ST €. a7 SEeR STeTg B € Al 3R AvieiyTe
A [FEe | 98 1 O FEEE 9 91w, BERgel T8l | 39 T, ST 3 Ul
21, o fafus 37T fafaa gqr =1feu | 7% feoroft 97 /et & i e 4 -
(1)  TRe T 9979 Forem e
(2) AT IR SAATY (U1 T, 9908 vaRie Sienie it grea
(3) TR TN A IR 99
(4) ~TRIET SRERH & (o1, 979 S, HE F8Ig3

10, fr=tafEa o 9 T aRfeiaar 9 wawes e S 5 57 9ar & 9 $2 & T 981 3
A, ol HMYEd ¥9 § ®iE oid FHaed g1 =180 |
d. 3T ATYEHR F AMTH o dRG F 61 2T § 4T 980 |
A
(1) a,b,cdTdTA T E |
(2) A a, b AR WEF |
(3) HaT a AR TETE |
(4) et a Ah FETE |
JA-058-17 7 Paper-IT1T
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11. In which onc of the following cascs, the Supreme Court made 1t cxplicit that ‘cven when

the authority has statutory power to tuke action without hearing, 1t would be arbitrary to
take action without hearing and, thus, violative of Article 14 of the Constitution” ?

A K. Kraipak V. Union ot India

(1)
(2)
(3)
(4)

Union ol India V. Saush Chandra

A K. Roy V. State of Punjab

H.1.. Trehan V. Umion of India

12.  Match List — [ with List — II and sclect the correct answer using the codes given below

List -1

. Personal bias 1.
b.  Pecuniary bias i,
¢.  Subject-matter bias 111
d. Departmental bias v,
Codes :

a b C d
iy 1 il v
(2) i i v 11
(33 1 1] v ]
4y v I i 11

Tast =11
Jeejeebhoy V. Collector
Krishna Bus Scrvice (P) Ltd. V.
State of Haryana

Manak Lal V. Dr. Prem Chand

(. Nageswara Rao V. A P.S.R.T.C.

13. Read the Assertion (A) and Reason (R) and give the correct answer with the help of codes

aiven below

Assertion (A) @ A writ of prohibition can be issucd on the same grounds on which the

Reason (R)

Codes :

(1)
(2)
(3)
4)

Paper-1I1

Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).

writ ol certiorart can be issued except in case ol an error ol law apparent

on the tace of the record.

A writ of certiorart 1s 1ssued at a stage when proccedings are in progress,

to forbid the authority from continuing the proceedings whereas a wril
of prohibition 1s issued at a stage when the authority has given a final

decision, o quash the decision.

(A)1s correct, but (R} s false,

(A) 1s Talse, but (R} 1s correct.

JA-058-17
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TETE % AT S 1 il i off 21 a9 o fae gene & g A S "I
ENT 2R ZHfo™ 9% Wi & 3198 14 &1 Sooiod &rm | 7

(1) T HIF I IR 99

(2) R TF T GART T3]

(3y Wk I FE g Oy

(4) TUFTA. FEH IAH TR T

12, T 1 K1 gAm - 11 o Q1 YT ST AT U 0 el S T S g R 3R T
el =it — 11

s . o \
o T T8 TTA s FTSTHTY S-TH Sherefe

b,  gIEEl T . 7 99 Hieg (A1) 1. 399 gRamn
T
c.  TooE-EEg dadn lil.  \MFF o6 99 81 T9EE
Ev_ E

L

d.  TEIRTE TEm v, ST F9E T g W70, A2 9,

&

a b & d
(1y 1 1 11 Y
(2) 11 1 v 11
(3) 1l 1 1V 1

4y iv I 3 i

13. 399 (A) 3R a6 (R) I Ug 21X A< 51 T el I YANT &40 g1 Tal 30 5

asfvpe (A) @ Toe ¥ W 81 @1 5l aftus 3 & afaie wiase Re 37 T 3Rl 7
ST R ST TRl & 9 ST O 3ROt T ST oh1 S wehAl BT |

a% (R) . IAUU 2 3T AT T AR ST €, S8l SHaTE 9T Wl &l ales STMaeENT 3l
SFTLETE SN L& 9 TRl 511 Tk, S[aeh Wiayy T 39 2168 T SR & Sl 8,
S| 3TMIRIT AT AT 0 AT 61 &1, a1 39 3TnT@Efed o6ar 51 Weh |

ohd :

(1) (A) 3MT(R) THT TET & AR (R), (A) Ff T M@ g |

(2)  (A)#IR(R) AT T&T &, T (R), (A) Tl W& 23167 77 & |
(3) (A)TElg, g (R) ™ & |

(4)y  (A)Ted 7, TR (R) TRT &

JA-058-17 9 Paper-IT1T
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14. Match List — [ with List — IT and sclect the correct answer using the codes given below
List -1 List — 11
(Subject) (Provision of the L.okpal and
Lokavuktas Act, 2013)
a.  The composition ol Lokpal 1. Section 3(2)
Establishment of Lokayukta 1. Section 6
¢.  Term ol ollice of Chamrperson and . Section 37
Members of Lokpal
d.  Removal of Chairperson and Iv.  Secction 63
Members ol Lokpal
Codes :
a b C d
oy i il v
(2} 1 v 11 11
(3) 1 Bl i IV
4y 1 il v I

15, The appomntment ol Chatrperson of Lokpal shall be made by the President after obtaining
the recommendation of a sclection committee consisting of

(1} The Prime Minister; The Speaker of the House of the People and the Chiel Justice of India.

(2)  The Prime Minister; The Spcaker of the THouse of the Pcople; The leader of
opposition in the House of the pecople.

(3)  The Prime Minmister; The Leader of opposition m the House ol the People and one
cminent jurist to be nominated by the President,

(4)  The Prime Mimister; The Speaker ol the House of the People, The Leader ol opposition

in the House of the People, The Chicef Justice of India or a Judge of the Supreme Court
nominated by him and one eminent jurist to be nominated by the President.

I6.  “lLaw 1s not only a set ol rules but 15 a method or technique for harmonizing conllicting
mterests.” This statement 15 ol
(1} Auguste Comitc (2)  Herbert Spencer
(31 Roscoe Pound (4y  l.eon Duguit
17. Match List = [ with List — II and give the corrcet answer by using the codes given below
List -1 List - II
(Meaning) (Jurists associated with)
a, Jurisprudence is a scicnce of just and unjust, i Salmond
b.  Jurisprudence is the science of the [rst 1. Gray
principle ot crvil law,
¢.  Jurnsprudence is the philosophical aspect of . Ulpian
knowledge of law.
d.  Jurisprudence is in truth no more a formal 1v,  Cicero
science than physiology.
Codes :
i b 2 d
oy i il v
(2) 1 ] IV I
(3) 1 Bl i IV
4y 1 v il i

Paper-1I1

1{

JA-058-17



16.

17,

JA-(58-17

Www.prepp.in

.

d.

&d

=

(h
(2)
(3)
4)

el - 1
(Terer )

FATRITA o 27T 99T T2el o

I T Ay

IERTe] o 3Te0eT TT W=l &6 2Tl

ST

a h C
] 1 11
] 1V 11
11 11 1
1 11 v

d
1V
111
v
11

1.

V.

= — 11
(FTIERUTET UE eTiehTaaRT ST,
2013 o UTEeT)
4IRT 3(2)
T 6
CILAREY

T 63

SR o 3TedeT &1 I, U Tied === @faid s Tid 07T 8 0% I2Uid §RT i TR &9

=2 HHT T &
DT T, AR WA o 2T ST W o HEd e
T T30, e T 2T, e 9o 9 Eme & S
GO T, o 9 TaeT 3 A 9 U s fafud, SR st g S E

T TAL SN W7 2T, oheh 9T T faeT & Adl, A e & T e a1
37k FT ATHd Hared <o & iz 2= <[ 997 U WA fatuer, 19 el

(h
(2)
(3)
4)

prepp

Your Personal Exams Guide

e A =AU eead TR g dfesh 98 fadd fEer 0 emeE @ s U weia o

JFAEE 7T FA 6
ST SRR

(h
(3)

= - 1

a.
b,
C.
d.

he :

o

(1)
(2)
(3)
(4)

FETereTes =TT 27 F=rano] 1 a3 & | i

()

(2)
(4)

h{\ ("\'_ u%fqan] ST EF-'T

it - 11
(Tt fatereme)

i A Ty s rer Msawfaga e i o

faferemer fafy & 3 =6l 2T9Teh eT & |

FefereTTes A, 3 &1 Ueh AT Foet & iv.

a b C
i i i1
11l i v
1 11 1
11 1V 1

11

Paper-IIT



18,

19,

20,

21,

22,

WwWw.prepp.in prepp

Your Personal Exams Guide

Which onc of the following requisites 18 not necessary to be fulfilled for a custom to be
vahid and operative as a source ol Taw 7

(1} Reasonableness

(2)  Conformity with statutc law

(3)  Immemorial antiquity

(4y  May not have been practiced continuously

Match List — I with List — II and give the correet answer by using the codes given below

List -1 List - 1II
(Theory) (Jurist Associated with)

a. Inner Morality 1, Compte

b. Concept of living Jaw 1. Fuller

& Oreanic concept of socicty i1, Burke

d.  Gradual and organic process  1v.  Ehrlich

Codes :

a b C d
(ly n AL i 11
(2) it v i 11

(3y i di iv
@ i i i v

If "A" leaves his car with the driver, the driver’s possession will be
(1} Immediate whereas that of "A” would be mediate.

(2)  Mediate whereas that of *A” would be immediate.

(3)  Incorporcal whereas that of *A’ would be corporcal,

(4)  Corporeal whereas that of “A” would be mcorporeal.

Reuad Assertion (;’\} and Reason (R) and answer using the codes given below :

Assertion (A) : The legislature can forge a sledge-hammer capable of cracking open the
corporate shell,

Reason (R) : Corporate personality cannot be used as a shield to harm national
interest,

Codes :

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct cxplanation of (A),

(3 (A)istrue, but (R)1s false.

(4  (A)is falsc, but (R) 1s truc.

Read the Assertion (A) and Reason (R} and give the correct answer with the help of codes
agiven below :

Assertion (A) : The most important power of an owner 1s the right to exclude others.
Reason (R) ¢ The owner may grant (o another many of his rights and yet remain owner.
Codes :

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).

(3) (A} is true, but (R) is falsc.

(4y  (A)is false, but (R) s true.

Paper-1T1 12 JA-058-17
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“Law 1s a social cngincering to remove the existing imbalance and to further the progress,
serving the needs ol the Socialist Democratic Bharat under the rule of Law.” This was the
observation ol Justice K. Ramaswami i

(1}  Delhi Transport Corp. V. D.T.C. Mazdoor Congress

(2} Indra Sawhney V. Union ol India

(3)  State of Karnataka V. Appa Balu Ingalc

(4)  Parmanand Kataria V. Union ol India

In which of the crimes retributive theory strikes the moral blameworthiness of the
offender to punish him ?

(1}  Clamping prohibitory orders

(2} Sexual harassment at workplace
(3)  Wiltul attempt to detame

(4y  Common intcntion to commit riot

In which of the circumstances the defensc of necessity involves a collusion of interest and
the consequential judgement ol values 7

(1} Stcaling to avert hungers

(2)  Absolute necessity lor self-preservation

(3)  Private homicide for kecping up the honour

(4)y  Acts donc against anarchy

Read Asscrtion (A) and Rcason (R) and using the codes given below choose the

aAppropriate answer.

Assertion (A) : The apprchension of use of crimunal force must cmanate from the
gesture ol a person (o attract punishment.

Reason (R} ¢ Mere advancing with a threatening attitude will not amount to criminal
foree:;

Codes :

(1} Both (A) and (R) arc contradictory to cach other.

(2 (A)is correct while (R) 15 not the cause ol 1t.

(3)  (A)1s incorrect while (R} 1s appropriate.

4y (A)is correct while (R) 15 the cause ol 1t.

Read Assertion (A) and Reason (R) and using the codes given below write the correct

JdITSWET.

Assertion (A) : In a case of attempt to rape there must be an indceent assault or action
with any resistance Irom the victim.

Reason (R} : There was some action which shows that he was going to have sexual
connection with her.

Codes :
(1) (R} is correct cxplanation of (A) and hoth (A} and (R) are complementary to cach
other.

(2} (A)1s correet but (R) 1s not complementary to (A),
(3) (A} and (R) have no legal standing i view ol change ol burden of prool
(4y  (R)is essential to formulate (A) otherwise there may not be a crime.

Paper-1T1 14 JA-058-17
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28.  Which of the factors fall under the limits within which the right of private defense should
he exercised ?
(1} Where there 15 time to have recourse to the protection of the public authoritics.
(2} When a public servant performs an act in good faith.
(3} Anact committed strictly m conformity with law.

(4)  Where the act was 1rregular and outside the scope of power,

29, Duacotty with murder creates co-extensive responsibility of each participant because
(1y  Collecuve lability 15 the core-essence whether it was culminated suddenly or not.
(2)  Mere non-participation in dacoity will not exempt from criminal hability since there
was pre-coneett,
(3) Planning was to commit only dacoity, but another person, for carlier encmity,
abetted to commit murder while there was no common object.

(4y  There must be one or more participants tor the constructive action by cach member.,

30, What offence, 1f any, has been committed by a married woman giving free consent (o her
own abduction ?
(1}  Abetting her own abduction
(2)  Criminal conspiracy for abduction
(3)  No criminal liability against her as the acts was not committed in deceitful manner,
(4y  Attempt to abduction when there was failure to obtain clear consent.

31. A voung man waves a currency note of rupecs onc thousand in front of a woman as 1f he
offers the money for an mmdecent lavour from the woman, he may be criminally hooked
under
(ly  Section 506 ol IPC
(2)  Section 507 ol IPC
(3} Scction 308 of [PC
(4y  Scction 309 of [PC

32. Onc of the following Intcrnational Convention is not rclated to wild lifc conscrvation.
Give the correct answer :
(1) Conventon on International Trade In Endangered Species of Wild Fauna and Flora.
(2)  Convention on Environmental Impact Assessment in Transboundary Context.
(3)  Convenuon on Migratory Species ol Wild Animals.
(4)  Convention on Internatonal Unmion for Conservation ol Nature and Nuatural
Resources.

33. The Montreal Protocol is related to
(1) Transhoundary Air pollution
(2} Ozonc Layer
(3) Climate change
(4y  Hazardous waste

Paper-IIT 16 JA-058-17
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34. Read both Asscrtion (A) and Reason (R) and give the correct answer by using the codes
aiven below :

Agsertion (A) ¢ Over 200 central and state statutes which have atleast some concern
with environmental protection, cither directly or indirectly have
unfortunately not resulted m preventing environmental degradation, on
the contrary has incrcased over the years,

Reason (R) : Unless the Government policy 1s backed by adequate budgctary
allocation, changes to the statutory regime and a burcaucratic will, the
government’s mtention arc apt to remain on papcr.

Codes :

(1} Both (A) and (R) are correct and (R} is the correct explanation of (A).

(2} Both (A) and (R) are correct, but (R} 1s not the correct explanation of (A).

(3} (A)is correct, but (R) 1s wrong,

4y (A)1s wrong, but (R) is correct.

35. Match List — I and List — IT and find correct answer by using codes given below :

List — I [ist - II
a. Public Liability 1. State of Bthar V. Murad Ali Khan
b, Sustainable . M.C. Metha and Another V. Union of India
Development and Others
c.  Wild life protection i1, Rescarch Foundation for Science V. Union of

India and Others
d. Hazardous waste material 1v. Narmada Bachao Andolan V. Union of India
Codes :

a b C d
(ly 11 1V 1
(2) i iV i 111

) i i iv i
)y ivooi i

36.  Give correct answer by using codes given below |
The Environmental approach has led the Supreme Court to derive, adopt and apply a
range of principles to guide the development ol environmental jurisprudence. Notable
amongst the fundamental norms recognised by the court are

a, Every person cnjoys the right to a wholesome cnvironment, which is a facct of the
right to Iife guaranteed under Art. 21 ol the Constuitution.,

b.  Enforcement agencies are under an obligation to strictly enforce environmental laws.

&, Government agencies may not plead non-availabihity of funds, madequacy of staff

or other insufficiencics to justify the non-performance of their obligations under
environmental laws.

d. Stringent action ought to be taken agaimst contumacious defaulters and persons who
carry on industrial or development activity for profit  without regard to
environmental laws,

Codes :
(1y onlyaandb (2)  onlya, bandc
(3) a,b,candd (4)y only a
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In which of the following casc the Supreme Court after referring to International Covenant

of Civil and Political Rights and Universal Declaration of Human Rights observed that, “It

1s almost an accepled proposition of law that rule ol customary mmternational law which are

not contrary to the Municipal Law shall decemed to be incorporated in the domestic law™ 7

(1y M.C. Mehta V. Union of India

(2)  Rural Litigation and Entitlement Kendra V. State of U.P,

(3) P.UCL. V. Union of India

(4)  Church of God (Full Gospels) in India V. K.K.R. Majestic Colony Wellure
Association

Which onc of the following 1s correct 7

The Airr (Prevention and Control of Pollution) Act of 1981 was cnacted

(1) by the Parlhament under Art 252 (1) of the Constitution after securing enabling
resolution from the States.

(2) by the Parlhament invoking the power under Art 253 to make laws implementing
decisions taken at International Conferences.

(3} by the slates, as the executive functions under the Air Act are carred out by the
State Pollution Control Board.

(4} by the Parllament based on the directions given by the Supreme Court.

Which ot the following pair/pairs 1s/are corrcctly matched 7 Give correet answer by using
the codes given below

L. 1.Gi. Starke — An Introduction to International Law

n.  Hackworth — Digest of International Law

it.  J.L. Bricrly — The Changing Structure of International Law,
v, W, Friedman — The Basis of Obligation in International Law.
Codes :

(1) onlyn (2) 1and 11 both

3y uandm (4y o ntand v

In which of the following cases the International Court of Justice pointed out that when in
regard (o any matter or practice, two states follow 1t repeatedly for a long tme. 1t becomes
a binding customary rule 7

(1) West Rand Central Gold Mining Company Lid., V. R. Case

(21 South West Africa Casc

(3} Right ol Passage over Indian Terrtory Case (Portugal V. India)

(4y  North Sca Continental Shelf Case

In Intcrnational law a good cxample of the application of the principle sovercignty is the
“Theory ol Auto Limitation”. According to this theory, states follow International law
becausc they have by their consent reduced their powers. This principle is based on the
principle of statc sovercignty. The chief exponent of this principle was

(1y only Anzilotu (2)  Anzilot and Trnepel both

(3)  Salmond (4y  Max Huber
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Which of the following statcment/statements 1s/are incorrect 7 Give correct answer by

using the codes given below :

L. “Subjugation™ 1s a modce of “acquisition” of Nationality under the International Law,

[I.  Stock V. The Public Trustee 1s a casc related to Double Nationality,

I, Articles 3 10 6 of the Hague Convention ol 1930 provide the provisions for solving
the problem of Double Nationality of marricd women.

IV, “Cession™ i1s a mode of "Loss™ of Nationality under the International Law,

Codes :

(1y only Il 1s mcorrect.

(2) 1 I and I are incorrect.

(3y I, III and IV arc incorrect.

(4y I, II, IIT and IV all arc incorrect.

Read Assertion (A) and Reason (R) both and give the correct answer by using the codes

aiven below

Assertion (A) : The General Assembly is onc of the principal organ of the United
Nations which consists of all the members of United Nations.,

Reason (R) : The Resolutions or Declaration of the General Assembly arc not binding
upon the States. They are merely recommendations.

Codes :

(1} Both (A} and (R) are correct and (R} is the correct explanation of (A).

(2)  Both (A) and (R) arc correct individually, but (R} is not correct explanation of (A),

(3} (A)is correct, but (R) 1s wrong,

(4y  (A)1s wrong, but (R) is correct.

Muatch List — T with List — I and give the correct answer by using the codes given below
the Lists :

List -1 List - IT
(Jurisdiction of the International (Cases decided)
Court of Justice)

1. Case decided under contentious  a. Nicaragua V. United States of

jurisdiction Amcerica
1. Under Advisory Jurisdiction b.  North Sca Continental Shelf Case
. Courts’ competence in respect ot ¢ Western Sahara Case

determination of its own

jurisdiction
1v.  Translerred Jurisdiction d. Anglo-Traman 01l Company Case
Codes :

i b e d

(M iv i i i
(2) i i i v
3y i di iv
) i iv i i
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Which of the following pair/pairs is/are not correctly matched 7 Give correct answer by
using the codes given below :

I Composition ol the Securtty Council of U.N. — Article 23 ol the U.N. Charter

. Composition of the Economic and Social Council — Article 61 of the U.N. Charter
. Composition ol the General Assembly ol the United Nations — Article 86 of the

U.N. Charter

v.  Composition of Trusteeship Council — Article 28 ol the U.N. Charter
Codes :

(Iy onlyiv (2) 11 and 1v both

(3) 1, uandm (4 1, u,m and 1v all

Muatch List — [ and List — 1T and lind correct answer by using the codes given below :

List =1 List =11
{Case Law) (Decision)
a. Saro] Rani V/s. Sudarshan Kumar 1. Uniform Civil Code
b.  Jorden Dicngdeh V/s, S.8. Chopra 11, Mcaning of Hindu
C. Russel V/s. Russel . Constitutionality ol Section 9 ol Hindu
Marriage Act, 1935

d. Shastn V/s. Muldas iv.  Meaning ol Cruelty
Codes :

a b g d
(ly n i i IV
(2} iv 1 11 i

3y di i iv i
@ i iy i i

A marriage solemnized between any (wo Hindus who are Sapindas ol each other shall be
(1}  WValid, if the custom or usage governing any of them permits a marriage between the

(W,
(2)  WValid, if the custom or usage governing cach of them permits a marriage between
the two.

(3)  Voidable, if the custom or usage governing cach of them permits a marriage
between the two.
(4)  Voud, 1l the custom or usage governing each ol them permits a marriage between the two.

Read the lollowing and give correct answer with the help of codes given below :
A married Hindu female can adopt a child

1. Only with the consent of her hushand.

1. Incasc of void marriage, consent of hushand is nccessary.

. In case of voidable marrage, consent of husband 1s not necessary.

1v. Il husband has converted 1o Mushm religion, his consent 15 not necessary.
Codes :

(1y 1and v are correct, but 1 and 1t are incorrect.
(2} 1,111 and iv arc correct, but 11 1s incorrect,

(3)  uand iy are correct, but 1 and 1t are incorrect.
(4 1v and 11 arc correct, but 111 and 1 are incorrect.

Paper-1T1 24 JA-058-17
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Which of the following is not a ground of divorce available to wife under section 13(2) of
the Hindu Marriage Act, 19557

(1}  Pre-Act bigamy of the hushand

(2)  Repudiation of marriage

(3)  Cruelty by the husband

(4)y  Husband is guilty of rapc, sodomy and bestiality

Read the lollowing statements and give correct answer with the help ol codes given below
L. A Muslim woman can marry a Kitabi,

1. A Shia male can contract *Muta” with a [ire worshipper.

. Marrtage ol a Mushm woman with a Hindu would be trregular.

tv. A Muslim man cannot marry with his nicce.

Codes :

(1} 1and 1 are correct, but 1 and 1v are incorrect.

(2) 1 and m arc correct, but 1 and 1v arc incorrect,

(3) 1 and v are correct, but 1 and n are incorrect.

(4) 1t and v are correct, but 1 and 1t are incorrect.

Read the following statements in the hight of Hindu Adoptions and Maintenance Act. 1936
and give correct answer with the help of codes given below :

L. The obligation of husband to maintain his wife 1s co-cxtensive with his property.
. Sec. 18(2) provides lor mamtenance and separate residence ol wife m some
conditions.

1. Father-in-law’s obligation to maintain widowcd-daughter-in-law 18 a personal

obligation.
1v,  An unchaste and non-Hindu wile 1s not entitled to maintenance.
Codes :

(1y 1and v are correct, but 1 and 1t are incorrect.
(2)  uand iy are correct, but 1 and 1t are incorrect.
(3} 1l and v arc correct, but 1 and 11 are incorrect.

(4 1 and 11 arc correct, but 11 and 1v are incorrect,

Which of the following is not a ground of divorce under scction 2 of the Dissolution of

Muslim Marriage Act, 1939 7

(1) 7 years imprisonment (o the husband

(2}  Failure of the husband to pay maintenance for the last two years.

(3)  Whereabouts ol the husband have not been known lor a pertod ol 3 years.

(4y  Fatlure of the husband to perform, without reasonable cause, his marital obligations
for a period of three yvears,
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Which of the following arc not available to a Hindu husband as grounds ot Judicial Scparation ?
Answer with the help of codes given below

L. Extra marital scx by wifc

1. Conversion of wife to a non-Hindu religion

. Wile's pre-marriage pregnancy

v, Non consummation ol marriage owing to impotence ol wile.
Codes :

(1} 1and ii only (2) 11 and 11 only

(3} 1vandionly (4y  uiand v only

Which Article of the U.N. Charter charges the U.N., (o promote “Universal respect for, and
observance of, human rights and tundamental freedoms for all without distinction as to
sex, race, language or religion™ ?

(1y Article 56 (2y  Arlcle 55(¢)

(3) Article 62 (4)  Article 76(c)

Muatch List — [ and List — IT and give the correct answer by using the codes given below :
List -1 List =TT
a.  The Commission on Human Rights was 1. December 15, 1989
cstablished by the Economic and  Social
Council on

b.  The General Asscmbly crcated the position of 1. 20 December, 1993
LU.N. High Commissioner or Human Rights on
C. The General  Assembly  adopted  Sccond 111, February, 1946

Optional  Protocol to  the International
Covenant on Civil and Political Rights on
d.  The Optional Protocol to the International Law  1v.  March 23, 1976
on Civil and Political Rights, 1966 came into
force on

Codes :

i h ¢ d
Ly an 1 1 1V
(2) 1v 11 11 1

) qii iy i i
) i i v i

Which of the lollowing pair/pairs 1s/are not correctly matched 7 Give the correct answer
by using the codes given below

1. The World Conlerence on Human Rights was held at Vienna — Year [993
. International Conlerence on Human Rights at Tehran was held — Year 1958

. First World Conference on Women was held on Beljing in — 1985

1v. International Convention on Elimination of all forms of Racial Discrimination — 1973
Codes :

(1y onlyu (2)  1and n

(3) u,nrandiv (4y 1,1, 0 and 1y
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Which of the following has commented on the lecal significance of the Universal
Declaration of Human Rights thus, “The declaration is merely a statement of principles.
not a legally binding mstrument; but it has become one ol the best known international
documents, and 1t has been often referred to 1n resolutions of the U.N., the Specialised
Agencies, regional arrangements and other International Organisations, and in national
constitutions; lcgislation and court decision. It 1s a becacon light for all mankind cven
though it has been honourcd more often in the breach than in the obscervance™ 7

(1) Starke

(2) H. Lauterpacht

(31 Oppenheim

4y Palmer and Perkins

Read both Assertion (A) and Reason (R) and give the correct answer by using the codes

given below :

Assertion (A) : The Universal Declaration of Human Rights docs not define the term
‘Human Rights™, It refers them as “the cqual and inalienable rights of all
members ol the Humanity™.

Reason (R) ¢ The [ramers of the Indian Constitution were influenced by the concept
ol Human Rights and guaranteed most of the Human Rights contained
in the Universal Declaration of Human Rights,

Codes :

(1} Both (A} and (R) are correct and (R} is the correct explanation of (A).

(2}  Both (A) and (R) are correct, but (R} is not the correct explanation of (A).

(3)  (A)iscorrect, but (R)1s wrong.

4y (A)i1s wrong, but (R) 15 true.

To which of the following Intcrnational Conventions on Human Rights, India has become
party to such conventions 7 Give correct answer with the help of codes given below :

L, Convention on the Political Rights of Women.
1. Convention on the Right of the Child.

m.  Conventon for the Suppression ol the Traffic in Person and ol explottation ol the

prostitution ol others.

iv.  Convention on International Recovery of Child Support and Other Forms of Family
Maintenance.
Codes :

(1) onlyi
(2)  1and iv only
(3) 1, nand

4y 1, o, and v all
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Match List — [ and List — II and give the correet answer by using the codes given below

List - 1 List - 11
(Provisions of Protection of Human Rights (Relevant Sections)
Act, 1993)

L. Removal of a Mcember of the Commission a. Sccetion 12
. Functions ol the Commission b. Section 4
. Procedure with respect to Armed Forces c.  Section 5
iv.  Appointment of Chairperson and other d.  Scction 19

Members
Codes :

a b i d
(ly n 1% 1 111
(2) i 11 111 v

3y qi i di v
@ ivoodi i i

In which among the lollowing cases malice becomes relevant to determine a person’s
liability in law of torts. Answer by using codces below

a.  Malice may result in aggravation of damages.

b.  In torts of decit and conspiracy one of the cssential 1s malice,

B When act 1s lawlul, intention can be gathered rom past circumstances.

d.  Causing ol personal comfort by lawlul means may turn lawful act into a tort.
Codes :

(ly aandhb (2) ~a'and ¢

(3} a,bandc () a.b.candd

Match List — I (Maxims) with List — [T (Cases) and give correct answer by using codes
aiven below

List -1 List — 11

{(Maxims) {Cases)
a.  Damnum sine injuria 1. Padmavatt Vs. Dugganika
b.  Imjuria sine damno 1. Vishnu Datt Vs, Board of Higher Secondary

and Intermediate Education, U.P.
¢.  Volenunon ltinjuria 1. Bindra Devi Chauhan Vs, State of H.P.
d.  Res ipsa loquitor iv.  Bhim Singh Vs. State of Jammu and Kashmir
Codes :
a b C d

(1 i iy i i
(2) i di i v
Gy i iy i i
4y i i v i
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63. In which of following cases originator of defamatory statement will be liable for the
damage resuling from repetitive publication by third persons 7 Answer by using codes

below :

. He himsell authorized repetition.

b. Repetiton was the natural and probable consequence of his act.

C. There was immoral obligation on the person i whose presence the slander was
made to repeat it.

d.  There was moral obligation on the person in whose absence the slander was made to
repeat 1t

Codes :

(1Y aandb (2 aandc

(3)y aandd (4y  bandd

0d.  Which of the following s true in relavon to nuisance

(1
(2)
(3)
(4)

1

An acution for nwisance 1s actionable per se and no special damage need 10 be proved.
[t can be committed through the medium ol intangible objects.

It 15 direct mterference with the possession ol plainuff,

There 1s no interference with plaintift’s use or ecnjoyment of land.

65. Read Asscrtion (A) and Recason (R) and answer by using codces below :

Assertion (A) @ The law takes no cognizance of carclessness in the abstract.

Reason (R) : Causc of action tor negligence accrues when damage that is real damage

15 sulfered.

Codes :

(1) Both (A) and (R) are true and (R) 1s right explanation of (A).

(2)  Both (A) and (R) are true, but (R) 1s not right explanation ol (A).
(37 (A)isnght, but (R) 18 wrong.

(4)y  (A) s wrong, but (R) 15 nght.

66.  Which of the lollowing 1s not correct in relation to the Consumer Protection Act ?

()
(2)

(3)

(4)

[t extends to whole of India except the State of Jammu and Kashmir.

[t shall come into lorce on such date as the Central Government may by notification
appoint.

This Act shall be 1in addition to and not in derogation of provisions of any other law
[or the time being in force.

This Act shall overside the provisions of Sale ol Goods Act.

67.  What 1s the period ol Iimitation to file a complaint before the Consumer Dispute Redressal
Agencics

(1)
(2)
(3)
“)
Paper-1T1

Within one year from the date of causc of action.
Within two years tfrom the date of cause of action,
Within three yvears from the date of causc of action.
No limitation period to file a complaint,
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FefefEd O 9 50 ael 9 SUHESe aedey B ARYEA] R 6T U8 §RT SHE a-an
TAHERISE H 3 A6l &1 o (010 Sardss T S 9 2 31 Tl ¥ Fal 3al a9M

a. 3 UG % 60 W 3TEE AT |

b.  TRER IHH FA F TesT 3T Tiee TRumT o7 |

c. o =AM I 3T W §ER I TG F Tz, 39 0 3T 419 o7 |
d. 5 = F AT W SER % RGN H T 39 9 AT qere o

% :
(1y a&Th (2)  adRec

(3y  add (4) b3

3U5E % Gae 7 EiaiEd § 9 T "Rl E 7
SATAVEF AT |

(2) TT 3GYT AXA o HIETH H A (R S THA & |

(3)  TE AR F AU T Uee] 2eeT § |

(4)  =TET 3 i F U ST I H Y Sa T E

R (A) A 7 (R) T2 &0 A1 o e e e e B w3 Y
ATHELT (A) @ FHIIA TE ARAR] I G 8l oidl |

e (R) : TTRATR! o o0 FRATE F HRIT a9 9901 ¢, 5 aridd ¥ 15 &id g & |
T

(1) (A) 3T(R) =FT ®E1 & AR (R), (A) FI Hel AT G |

(2)  (A) AT (R) 2T W&T €, R (R), (A) 1 W8T =20 =61 5 |
(3) (AT e FIR) AT

(4) ()T & g (R) W& |

ST W0 AT o Hay T [ io@d § W i 91 59 Tgl 781 § 7
(2} EERETS dl{nllési Q:f AT g‘,\|4||‘_ T—ﬁ @hi s PETR) aﬁ;&l{_ﬂﬂﬂ ’Jh:Uin'I |

(3)  7E IMYMEH Ugel W Tl AT T HA % Ielal 30T, ST W] &l FHiad H are]
Tl |
(4) T FTalTem T fasl 2ATafTas % Ve U SR g

ST TeETe (FauT 21R0T & 91O [9eRTad =51 &4 a0l 2Tae =k S7a) 5] & 2

(1) T & ORE H U 9ol & 9o
(2) T FANE F 5 A & el
(3) FA & ANE F A G911 & 9ol

(4) Torermd g1 U & o §0F i H5 4T %1
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Read Asscrtion (A) and Reason (R) and answer by using codes below

Assertion (A) : Salary drawn by a partner from the firm for his services rendered to i1t
has been treated dilferent Irom his right to get an addivonal amount n
the form of salary as his share of the firm’s profit.

Reason (R) : Because R.M. Chidambaram Pillan Vs, Comnussioner ol [ncome tax
case laid down above principle,

Codes :

(1)  Both (A) and (R) arc correct and (R) 1s correct reason for (A).

(2)  Both (A) and (R) arc wrong,

(3)  (A)isnght, but (R) 15 wrong,

(4y  (R)isright, but (A) 1s wrong.

Match List — I with List — IT and sclect the correct answer using the codes given below

List -1 List - II
(Principles of mutual rights and (Relevant case-law)
liabilities of partners)
a.  Remuneration (o a partner m 1. Md. Abdul Sattar Vs. State of
abscnce of an agrecement on Andhra Pradesh
this matter.
b.  Fixation of remuncration by i, Ghisulal Vs, Ghumbirmal

agreement n respect ol a
partner does not alter his status
as a partner

¢.  Interest on the capital ol a 1. Shelat Brothers Vs, Nanalal Harilal
partner Shelat
d. Action against a partner lor 1v.  Bhagehand Vs, Kaluram @
balance duc to another Moolchand
Codes :
a b C d

(M iv i1 i
(2) qi i qi v
) i i iv i
) qi i iv i

Read Assertion (A) and Reason (R} and answer using codes given below |

Assertion (A) : Partner of an crstwhile unregistered partnership firm can bring a suit to
cnforce a right arising out of a contract falling within the ambit of
section 69 ol the Indian Partnership Act.

Reason (R) : Bcecause Judgement in case of Loonkaran Scthia Vs. Ivan E. John laid
down above judicial principle.

Codes :

(1) Both (A) and (R) are correct and (R) 15 correct reason for (A).

(2} Both {(A) and (R) are wrong.

(3} (A)1sright, but (R) 1s wrong.

(4)  (A)i1swrong, but (R} 1s right.
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68. uﬂﬂa?ﬂ:f(f\)dWW(]Q)W%H‘HWWWFWWWTW
TR (A) ¢ U MR g 0 Tered & o0 w0 9 AU MU gas Sl B R A H 0
g % T T IOF B S ARG YT AT Y & AT 9 S 9

ST 2 |
@ (R) ;. FIE HARUA, [ERaRs Ueee 9/ STy STged "iHe H ST [9aT

T T T |
[ TA
(1) (A) 3R (R) BT & T&l & 797 (A) % [T (R) el T & |
(2) (A) I(R)TATET Tord § |
(3) (A)TElg, g (R) Tod & |
(4) (R) @& T (A) Tod § |

69. ﬂﬁ—lﬁﬂﬁ—llﬁ@ﬁ%ﬁﬁ&ﬁ?#ﬁT?;ngchéiﬁmwﬁgﬁwﬁ-;hrm%i:
?ﬁﬂ I FszlT II
(imwmmquaﬂarﬁmmm (ﬁ%ﬁﬁaﬁma)
=)
a. T UWE G WO W WG § UK MR . O ST UhE S ATy
ARk ED PEEI Ry
b. UF WMRK % €W 0 O RN Qi Eged geE g
AT = FgRoT 9rTRR % &9 H

c. U WPIRI <A ST R =T i, ToTd SR S A
d. TW F FRO GIOA ¥ UH AR F v, HWE S BORH @
ohd :

a b C d
(1y iv 1l 1 11

(2} 1 i I IV
(3) 1 E S A 11
(4y 1 i IV I

70, 2AHTT (A) I T (R) 1 UL AT A €T T H2T A FET HI T T A S
FWHAT (A) @ U GEA TS AR BH 1 PR S 9IRS
(19 E\ﬁ q E[T\ T:T Gﬁ 737{'['{_*\:{ ‘“‘W‘; 'ET ﬁ[ Ry ﬁé‘qzmz 5]-32[ F[TII Eﬁﬂ'ﬁr —g]; f,;,:m' W

ST L FAT T |
T (R) . T SISOl WA ST A E S TS ¥ AT e it
e g |

e :

(1) (A) 3TR(R) ST &1 9&1 & 41 (A) T Fal @ (R) & |
(2)  (A) IR (R) SAI eI & |

(3) (A)TIE, ™ (R) Td & |

4y (A)TedE, g (R) Ter & |
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Which of the following statement is correct according to scction 2(9) of the Sale of Goods Act 7

“Mercantile Agent” means a mercantile agenl

(1} having in the usual course of business as such seller authority either to sell goods, or
to consign goods for the purpose of sale, or to buy goods, or to distributc moncy for
security ol goods.

(2} having in the customary business as such agent powcer cither to sell goods, or to
mortgage goods lor purpose ol sale.

(3)  having in the customary course of business as such agent authority to scll goods.

(4)  having in the normal coursc of business as such agent authority to confine goods or
o raise goods for purpose of the security ol money.

Which of the lollowing stalements are correct. Answer using the codes given below

a, Ascertainment of goods tor sale 1s done by buyer.
b.  Appropriation ol goods for sale 15 done by seller.
B Distinction between ascertainment of coods and appropriation of goods that former

involves “the element of common intention between buyer and seller”, whereas later
can be a unilateral act by buyer,

d.  Property in goods docs not pass to buyer till appropriation.
Codes :

(1} onlya, ¢ and d arc correct. (2) only b is correct.
(3)  only d s correct. (4y  only ¢1s correct.

Which ol the following are presumptions as (o a negotiable instrument under section |18
ot the Negotiable Instruments Act 7 Answer using codes given below

a. Presumption ol contractual capacity b. Presumption ol consideration
¢. Presumption of maturity of instrument d. Presumption of date

Codes :

(1y onlyaandc (2)  only band d

(3) onlyaandd (4) onlyaandb

Which of the following statement 1s correct 7 Answer using codes given below :

i, Doctrine of indoor management apply in case of knowledge ol trregularity in company.
Doctrine of indoor management does not apply in casc of suspicion of irregularity,

c.  Doctrine ol indoor management apply 1 case of forgery.

d.  Doctrine of indoor management docs not apply if the act of an officer of a company
1s one which would ordinarily be beyvond the powers of such an officer.

Codes :

(1} onlyais correct. (2) only b 1s correct.

(3)  only ¢ i1s correct. (4y  only d s correct.

Find answer by using codes given below :
Director may be removed by

a. Other Directors b.  Creditors

¢.  Central Government d.  Shareholders mm a general meeting
Codes :

(1) only aand b are correct. (2)  only b and ¢ are correct.

(3) onlycand d arc correct. (4) only d and a arc correct.
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] fal et =1 ey 2(9) % argar oo & & S o w9 g

“Teh2Tee] Us+2 &1 319 & Uehedlze] ol

(1) U A= e 7 AT, ST fashar i areg el W ekl e Tkl & w9 awed o
T 3197 e GG 2T0a a2 i et & € Teaied ST 1 TR /T € |

(2) UF fefore syermra § B0 W6 USR5 et w5 e e fa % vae @ o
Tl Y= =61 WIfepTe 21 2 |

(3)  UW fafere eregm o g1, SR Usi2 7 Al i 986! ST s BT g |

FAfeliEad § 9 & A1 &2 Tl & 9 i 131 T el 1 T &3d 1T 3T S

a.  TERRT 3T AREET T SFAHROT AT ST TR S F |

b, ToeRl & Tt @ At feskar g foRar S E o

c. TR % TEUROT a1 a3 F A & 9 U 9% & 196 Ugel . Sl TF ekl o @
d. S T Hufa EFasTT T% shal 9% Tl gl |

[ TA

(1) FaAa,cqTATTE | (2) HFAAhTET |

(3) FHEA JWEF | (4) FEA TR E |

FTTeTigd § 9 S HT TSR0 TR forgd S14fTas &1 9R7 118 & 37a0d U= forngd & 7
AT 5T 0 el 3 JANT el gH I &I

a. VTCETETs & S STEERO b.  ToE i STETOT
c. ToT@d = TTeEr &I 3Ty d. ot seyren
ohd :

(1) ot a A (2) HEA b AR

(3) T 4 AN (4) AT a A D

F=TeTEs T 9 W W F9T T € 0 A9 B 7T 2 1 G e 30 3

a. WﬂWWW?WWdW(T@W T T g A A |

b. W%W?WHaWWWWWW?@TW|

c.  SIAS o T T eTaes yaes 1 OET @ 2 e |

d. T TFE T o TR SR o I el WIS SHE wiEEar 9 W E Al AN
TEY T g1 ¢ el B |

ohd :

(1) HAA o TR E | (2) FAA b TEE |

(3) el c HETE | (4) FEaAdTEE |

9 U T el ST U Y B0 ST S

7 ¥ 9 e IR ST ol 3eraT ST ] €

TR T 2 b,  RURBIE

¢.  HE TER d. 9 EeF § YR
ohd :

(1) a2 A TR & | (2) AT b e W7 |
(3) el ¢ AR TEIE | (4) FETd 3T aTEI& |
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